"y [ = QY‘?\& -
FD{?— =3k16t} £

TR
A=

it
T
E = &= 3 (8NF) 3 (-2 +6])
L8] £~
A= L) R sl {3 P=cu,(,~2),Q(,24)
: Pue € o 4WQJQQ -
) AL AR )R = EAB =
< =3 & = ()i~

¢ (20 +28) =- AT +2L S
, Ltk

qe -2k =) = -3

P=(u,1,-2) o« wornalls = {
=

HP‘*;—E\ (.) é\-—-..-..
r.f,j;ﬁ AP :ﬁ—g/g—g—j < %ﬂaﬂozjﬂu% Mh_gﬁ%_
~ Pon sueral)
Q = (o,
k “)Qp@«QAMO—QQn

L
A‘:(?!R,ﬂ) /.B=("flhg),C=(?,~l,3)
ARCD Muusmarlfoas,

b =8BC = (P~ (-2-N] +(3-61&
e e e
= D=(3+3

/ A°3,-1-3) 2(6,~],~4)
Q,QO ? = (l -2 3) : M_.‘—o'l\(\ "a 34’—
0 B.=2(8,=L=12Y , AR =.3 _33 ¢33
il o> (% Poen S = AP M L
~ ~O)AP =4 = 3&?"%?*3%& ,£20
b B = P =( H”Lﬁ/*‘tff—gfj
2° P o aafalls 2 = BF 1A
=) BP = AL T -/r ~2A) +344 120
D P =2l T b al=Phel =y 23875
1° 412 2% Sce.? o % Foasset
& ;
(1t = g A (1)
7 raislls o2k (2)
3 = 2+3k (3)
(D () = E=>7 =2
Tcy\j?-, (3): 9w

r Crfr 20 5
: ] 3233

="/9_+1'3\% ]
3 et fondlls o 2288, (Bl BTl



